Electrician Theory - 1st Year NIMI Question
Module:11 Measuring Instrument (FT9eh I)

Q1. Which force is required to move the pointer from zero position in an indicating
instrument? | Teh Hehcleh 3TSROT H Gige i e AT & FATHATRA et o T fohd et T
HTaRTHAT Il 872

(A) Controlling force | &/eT &I AT =TT

(B) Deflecting force | faarerst el

(C) Air friction damping | a3 BT Heat

(D) Eddy current damping | #dY 9IRT HAceT

Answer:B,

Q2. Which is the position to use the instrument provided with gravity control? |

T&caTeh¥oT 0T & HIY YeTeT fhT 1T IYRIUT T ST &t ol T it AT 2
(A) Any position | fordT off Reufa &

(B) Vertical position | F¢aTerR fEafar

(C) Inclined position | 37T g5 Fufal

D) Horizontal position | &if¥eT feufar

(
Answer:B,

Q3. What is the name of the scale? | 3T &7 AT FIT §?

N

(A) Linear scale | ¥f@e daTt

(B) Coarse scale | Al 3AT

(C) Extended scale | fa&arRd ST
(D) Non-linear scale | IRXGT YA

Answer:D,

Q4. Which error is caused by the incorrect position of instrument reading? | 3¢
Qifgar hr areret FEufe & SRoT ler A Jfe g g2

(A) Device error | 39I0T 3‘%

(B) Human error | ATeAd &

(C) Influence error | 981 I

(D) Switching error | f&af=rar Jfe

Answer:0,

Q5. Which instrument is used to measure one ohm and below one ohm resistance
value accurately? | Te 31# 3R Teh 38 & A1 R AT &l AT & forw R 3uaior &1
39T R ST §2

(A) Megohm meter | FaTT 31T HeX

(B) Multimeter (analog) | HAeCIHTET (TATHTT)
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(C) Shunt type ohm meter | ?I€ TI8T 3T FHIeX
(D) Series type ohm meter | @l Y& 31 HeX
Answer:C,

Q6. What is the purpose of the 3rd terminal provided in a advanced megohm meter? |
SooTd AIMINGH HIeT H Yar Tt a0 e fY &1 3ee g Far g2

(A) Get higher ohmic values | 3Td 31T HTT ITcd HY

(B) Pass the excess voltage to ground | 31faRed diecer STHT W 91T HY

(C) Pass the excess current to ground | 3TfaReFd &RT STHIT # 3Tl 8

(D) Get accurate readings without oscillation | &leteT & fo=TT GETH QT areaT =Y

Answer:D,

Q7. What is the name of the shunt resistance material? | 2ic IR AT &7 AT FAT§2

(A) Copper | aTsT

(B) Eureka | J¥ehr

(C) Nichrome | ATSshie
(D) Manganin | #=amfaeT

Answer:D,

Q8. What is the reason for the moving coil meter having uniform scale? | ﬂﬂﬂ%ﬁr
HIeT & Teh AT FATeT I gled T FIT HROT 62

(A) Deflecting torque is directly proportional to the current | fareleT SeTEOT &RT & 3MT=ATicish &
(B) Deflecting torque is inversely proportional to the current | fa<relet EIT»ITETUT YRT
SGeshATTITAT &

(C) Deflectlng torque is inversely proportional to the square of the current | fJa<reret aaTaU‘r
YR & g7 oh SGcshATIUTCH ©

(D) Deflecting torque is directly proportional to the square of the current | [drereT awsrtfr YRT
& AT & FATITC &

Answer:A,

Q9. Which error if the energy meter disc rotating continuously on no load? | Ifg FaiT
#HieY f3%h & fordll olls o SRR g & o sier A 3fe 82

(A) Speed error | a1fa 1 Ife

(B) Phase error | @ell

(C) Friction error | r§oT Eﬁ%

(D) Creeping error | T EU

Answer:D,

Q10. What is the effect on CT if its secondary is kept open? | I FEl T gfdcige el
I@T SITdT & df 30 9 T T3 93T g2
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(A) CT primary burns out | CT &I Wrdfe $sell Sfef Sireefr
(B) Volt ampere capacity reduces | alec TFARI &TEAT F g g
(C) Volt ampere capacity increases | @lec TFURIR &TH T G STl §

) CT secondary winding burns out | CT & gfdciiereh el Sief SiTesft

(D
Answer:D,

Q11. What is the purpose of variable resistor connected across shunt type ohm
meter? | 21T YR 3NEH HIX & I3 IR YT I 3cT FAT 8?2

(A) Avoid draining of battery | S o Torraere @ e

(B) Minimize the error in reading | qT&3Teh & I T e Y

(C) Adjust the current to safe value | &TRT &I 'FlTﬁ?IFr AT R FAAST FY

(D) Adjust the pointer to zero adjustment | t|'ISE'J: I T FATIISTT H FARANST Y

Answer:D,

Q12. Which material is used to make control spring in measuring instruments? | A9
arel 39Tt H fAT0T F&eT §a1at & foarv fovd arAel &1 3uter fohar Sirar g2
(A) Steel | ¥ATd
B) Silver | @Tér
(C) Tinned copper | Wé’ o g3 GICH
(D) Phosphor bronze | BIEHT a1—of
Answer:D,

Q13. Which electrical effect that the single phase energy meter works? | Tehel TRUT 3l
e T @ faG T T TR HTH HIAT 62

(A) Heating effect | FsHIT T

(B) Induction effect | 90T TeITa

(C) Chemical effect | IrATA I GHTT

(D) Electrostatic effect | 2R faege verma

Answer:B,

Q14. Which position an instrument using fluid friction damping reads accurately? | gd
YT fRINT T 3TANRT e aTeAT Ueh 3UH0T v FEATT & I &9 J UodT 6?2

(A) Any position | fordT off eafa &

(B) Vertical position only | Fael Ftarer Tafa

(C) Inclined position only | saeT g[ehr Eé Fufa

(D) Horizontal position only | hael 8T Rt

Answer:A,

Q15. What is the name of meter? | HIeX &7 =T FAT§?
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(A) AC multirange ammeter | T HecoT THIEI

(B) DC multirange voltmeter | 3T AeEIST dlecHIET

(C) AC and DC multirange ammeter | Tt 3R Y FAe et THiex
(D) AC and DC multirange voltmeter | T&Y 3 & AeeioT dlecHIe
Answer:B,

Q16. Which instrument is an example of an integrating instrument? | SlsT T 3UeoT
Tehlehel 3UehIUT ST Ueh 3GTE0T 672

(A) AC Voltmeter | T dlecHIC

(B) DC Voltmeter | S1&T alecHlex

(C) Energy meter | 34T Hex

(D) Tangent galvanometer | TIR@ET dedaitedleT

Answer:D,

Q17. How the creeping error is controlled in energy meter? | Fail HieX & {7t &1 Jfe &t
o faafa forar srarg?

(A) By reducing rated voltage | 3¢3 alecst &l hH Hidh

(B) By increasing the inductive load | 90T $TR I SGIehT "

(C) By adjusting the brake magnet position | sk Tsieh shr AT T AT Hih

(D) By drilling two holes diametrically opposite on disc | 3% WX ar ¢ 3o ear@ & faudia
Answer:D,

Q18. Why the scale of the moving iron instrument is having un-uniform scale? | Tel
llg TR 30T T SATAT HEHTT FAT gl 872

(A) Deflecting force is directly proportional to the Current | fareleT STef, €IRT & FHTATCT &Il &
(B) Deflecting force is inversely proportional to the Current | fa=refel srerre[ot emRT e

SYesh AT &

(C) Deflectlon of force is directly proportional to the square of the current | fa@releT ef, &RT &
T & FHTIT Bl &

(D) Deflection force is inversely proportional to the square of the current | fa@relsT &eT, &TRT &
97 3 AT BT &

Answer:C,

Q19. Which source of measuring error is caused by the effect of magnetic fields? |
YT &1 & THTE o hOT AT i hief Y Ffe giel 82

(A) Device error | f3arga 3fe

(B) Human error | ATId 3
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(C) Influence error | F311d Jfe
(D) Switching error | fEafrar 3fe

Answer:C,

Q20. Which type of wattmeter? | 8 YR T aredeT §2

L u

fa——— ———1

(A) Three element 4 wire wattmeter | dleT 3[ddd 4 AR AICHICT

(B) Two element 3 phase wattmeter | &I 37/ddd 3 Feoll ATcHIET

(C) Three element 3 phase wattmeter | diel 3/ddd 3 TIUT ATCHICT

D) Three phase two element with C.T & P.T | dlef TRUT &l 3/99ad C.T & P.T & @Y

(
Answer:B,

Q21. Which type of instrument is used with air friction damping? | fF& YR & 3T
T 3UANT 1Y T 0T STPTaT & AT fehar STTem &2

(A) Moving coil instrument | Trel 3l 3Tsh0T

(B) Moving iron instrument | Tef olig 39aoT

(C) Induction type instrument | 90T FehR 3TRIOT

(D) Dynamo meter type instrument | STIAHAT FHIeT YehIX 3UHIOT

Answer:B,

Q22. Which type of energy meter works with netural connection? | 3&/HIT Tt fhe
YR & Foll HICY & AT FHIH AT 52

(A) Three phase two element | dlsT &l &f 37aad

(B) Three phase three element | el Fell i 3aa

(C) Single phase single element | Tehel TIUT TUehol 374

(D) Three phase two element with CT & PT | TEr 3R 9Er & A1er dieT Sholl & 37aga
Answer:C,

Q23. What is the type of frequency meter? | Hraﬁr HIeT FT IhR FAT§?
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(A) Weston type | €T TR

(B) Ratio meter type | 3797 HIeX JhR

(C) Electro dynamic type RECRSEREGIEER N
(D) Mechanical resonance type | TITAH 3Te]eATe; ThR
Answer:D,

Q24. What is the unit of sensitivity in instruments? | T37 & Tdca1MeIdT T ShIS FAT§?
(A) Volt/ohm | @fee / 3T

(B) Ohm/volt | 315 / dtec

(C) Ohm metre |3IgH HX

(D) Ohm/metre | 318 / FleX

Answer:B,

Q25. Why two straight holes are provided in the aluminium disc in energy meter? |
Foll HeX H TogAIiaH 3&h # aF @19 & &1 YeTel T ST 82

(A) To reduce the disc weight | [3%e & Toiel I A I & foT

(B) For power factor correction | QIfeFeT I[0Tieh FER & ferw

(C) To prevent the flux leakage | Ferer s Rera @1 Akt 3 Forw

(D) To arrest the creeping error | {TeT &I JfE &l Ushad & ferw

Answer:D,

Q26. What is the name of the instrument? | I T AT FAT §?

A) Absolute instrument | TsHIeIE 3UhIOT

(A)
(B) Indicating instrument | ehcieh 3UHOT
(C) Recording instrument | RepIf3aT 3gahior
(D) Integrating instrument | TehTehcT ITHOT"
Answer:A,

Q27. Why damping force is required in a moving coil instrument? | azra»—s;?»?rwwﬁ
STFIaT ot FT 3TaeTH B2

(A) Makes the needle movement faster | S ¥ Iy T T FIAT &

(B) Helps the deflecting force to act fast | TererereT Srof 1 Qo7 & 1Y e 3 Feg, AT &

(C) Brings the needle to its zero position | s T IHeT Y EUTA H el &

(D) Arrests the needle without oscillations | arerett & e SEEANERIECERCIN

Answer:D,
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Q28. What is the function of soft iron core in a moving coil instrument? |€|T~ra»3?»?r
YT H A dllg & hIZ I FIAT H g2

(A) Strengthens the deflection force | fA&ITUT ST &l FHSTT LT &

(B) Controls the needle's movement | g & aTfel s i e &

(C) Provides meter with maximum sensitivity | FTeX @T 31T Tdgaferdr el HidT &
(D) Provide uniform distribution of magnetic flux in air gap | TIR 39 & Eﬁﬁ'& WeldrH bl Ueh
HATH TIROT &l

Answer:D,

Q29. Which parameter is the cause for loading effect on measuring instruments? |
ATYh TAT I TSI JHTT T FHROT hiA AT R §2

(A) Low accuracy | & Herhdr

(B) High sensitivity | 3Ta TagaTeier

(C) Low sensitivity | T TageTfierar

(D) Low influence error | & 81T I

Answer:B,

Q30. Name the type of instrument. | I3 T YR ATH|

(A) Attraction type moving iron | 3TSUT bR Tl dilg

(B) Repulsion type moving iron | 9fiehyoT YR Tl alig

(C) Permanent magnet moving coil | F?JTJTWEIF{EFS@[

(D) Dynamo meter type moving coil | mmwm

Answer:A,

Q31. Which meter is used to measure revolution per minute of a motor? | ﬂ’lﬂ?%‘c{uﬁﬂ
fal fReTe &1 AT & forw fond Hie a1 39T fahaT ST 872

(A) Tachometer | ¢ahTHTeX

(B) Energy meter | 33T #lex

(C) Ampere hour meter | TFdIIR €¢ Hiex

(D) Centre zero ammeter | =T he THICT

Answer:A,

Q32. How to identify the moving iron type instrument? | I &g YR & 3UHI0T FI
Tgdlel sl HL?

(A) No terminal marking | ®1g f&RT 3ieheT &1

(B) Terminal marked (+) only | Fael @ (+) R

(C) One terminal coloured red | @Tel 33T &7 Teh AT
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(D) Terminal marked (+) and (-) | €f&=ter RAEAT (+) 317 ()

Answer:A,

Q33. Which is an absolute instrument? | T&h fARUET 3UHOT i AT &2
(A) Ammeter | THICT

(B) Volt meter | dlec #Hex

(C) Energy meter | FaiT #TUT

(D) Tangent galvanometer | TTRTT edaiiaeT

Answer:D,

Q34. Which force produces movement of pointer in an indicating instrument? | &lsT &7
ol Ueh Hehdeh 30T 7 Faleh i a1fet YeT Far g2

(A) Damping force | #ga ef

(B) Deflecting force | faarerst et

(C) Repulsion force | UfcieryoT el

(D) Controlling force | faz=oT &7/eT

Answer:B,

Q35. What is the function of integrating instrument? | k’cl"v\lqad 3YHIOT T FAT 1 82
(A) Displays the quantity | ATIT Y& TR ST &

(B) Indicates the quantity | HT3T &T Hehd ST &

(C) Registers the quantity | FTIT & o LT &

(D) Measures the quantity | FTAT &l ATIAT

Answer:C,

Q36. Which position an instrument using gravity control reads accurately? | TIWWQUT
TSI0T T 3YFTIT e ATl Teh 3UHIVT Tohd AT 3 TEh FT & TadT g2

(A) Any position | fordT off Reafa &

(B) Vertical position | FtaTeR fEufa

(C) Inclined position | g7 g3 TEufa

(D) Horizontal position | &ifdet feufay

Answer:B,

Q37. Which quantity is measured by an electro dynamo type instrument? | Th
SAIFCISIIATAT YRR o ITRIUT GaRT fohd AT Sl ATAT STTdT 82

(A) Power | aifdd

(B) Current | &R_T

(C) voltage | arecaT

(D) Resistance | gfavrer

Answer:A,

Q38. How to achieve maximum accuracy in measurement using analog instrument? |
UATIIT STZHC T STAT deh ATT H TR TEThdT H¥ ITod HI?

(A) Keep low input impedance | & geTqe Ffcarer &

(B) Keep high input impedance | 3T 31T WiaeTeNm I&

(C) Use short connecting leads | BIET Saifaredr ol T 3T Y

(D) Provide correct damping system | gl HeeT JOTTell JGTeT el

Answer:B,
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